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Instructions for the Students
1. Attempt any 2 questions out of 4 from Section — A (Each question carries 10 marks)
2. Attempt any 2 questions out of 4 from Section —B  (Each question carries 10 marks)
3. Attempt any 10 questions out of 15 from Section — C (Each question carries 03 marks)

Section - A 2*10=20

Q1. Explain the term Management accounting.State the need ,importance and limitations of management
accounting.
Q2. Prepare the format of a Balance sheet as required under Indian companies act.
Q3. Discuss in detail the procedure of making a fund flow statement.
Q4. The ratios related to Cosmos limited are given ad follows.
Gross profit ratio 15%
Stock velocity 6 months
Debtors velocity 3 months
Creditor’s velocity 3 months
Gross profit for the year ending Dec.31,2020 amounts to Rs 60,000.Closing stock is equal to opening
stock.
Section - B 2%10=20
Q5. Explain CVP Analysis .Also draw and discuss graphical presentation of CVP.
Q6. “A Product may be sold at a price below the marginal cost in special cases”.In the light of given statement
,discuss the utility of marginal costing in decision making.
Q7. What is meant by break even analysis. Discuss the assumptions and limitations of this technique.
Q8. A company has fixed expenses of Rs 90,000 with sales @Rs 3,00000 and a profit of Rs 60,000.Calculate
the profit volume ratio.If in the next period,the company suffered a loss of Rs 30,000.Calculate sales
volume. What is Margin of safety for a profit of Rs 60,000.

Section - C 10%3=30
Q9. Short Answer Questions (Attempt any 10 questions)

a) Current Ratio

b) Inventory turnover ratio

) Functions of management accountant
d) Income statement

e) Advantages of Ratio analysis

f) Zero base budgeting

2) Sunk cost

h) Variance analysis

i) Investment centres



)
k)
)

n)

0)

Cash flow statement

Absorption costing

Bill receivables

From the following calculate debtor’s turnover ratio

Annual credit sales =30000

Returns inwards. =1000

Debtors = 3000

Bill receivable =1000

X Company Ltd has a P/V ratio of 40%.The marginal cost of product A is Rs 30 per
the selling price .

Fixed overheads

unit.Determine



ROIINO. cccvviiiiiiiiiiiiiiiniieinnnns Total Pages:
Paper ID: BCD501 Course Code: BCDB33501T

Examination (January - 2024)
Bachelor of Commerce (B.Com. - Digital)
Semester - V
Management Accounting

Time Allowed: 3 Hours Max. Marks: 70

Q1.
Q2.
Q3.
Q4.

Qs.
Qe.

Q7.
Q8.

fefenraat 38t gerfest
1. 391-8 59 €3 4 yme' fed At 2 Yis I8 93, I3 YiIa © 10 Wi I5|

2. 39T RO &3 4 Yt fod A8t 2 yies I3 a3, 939 YHs © 10 wid I&|
3. 331 € &9 &3 15 Y fod A8t 10 yis I8 o3, I3 YHs © 03 wid I&|

FI-6 2%10 =20

Ygus urardl Hee € fonrfimr 931 ygus Surardt ©f 83, HI3< W3 Hive' TH

I3 S nae B 3fI3 BF WsHd B 537 Hie © Trane f3wg a3

33 28 AecHe geE ©f fedt 59 fengg fRT 999 a3l

Cosmos Limited 3% FEU3 waurs J& &3 fefamiius &3 a2 Ia|

I8 B WaU3 15%

A O I3 6 HRS

JIred T ISt 3 HIIS

BETI T W13 HAS

THEJ 31,2020 $ ¥3H JT T A3 B I8 F'F 60,000 UL I AHUST AT HIWST ATS T S99
J1

I 2%10 =20

CVP fendne € fonrfimr 931 CVP & Jfeds dnardt § & fig w3 999" 3

feim vt ({9 i @3ue & wyd 813 3 W Jdin3 '3 Ao 7 Aaer I 83 I FEs &
Indt R, 2Ad 3t &9 AH3 3413 T GuUas™ '3 999" a|

99 ges fendne T of »igy J| oA 38 e Trgaret w3 HiHet '3 9o J<l

B Jyat & 3,00000 JUR <f feadt W3 60,000 IUE © HE G © &S 90,000 JUT € HIY forfa3 a3
6| BT T 3T WeU'3 & Jiee’ S| Aad wIE! frmire @9, suat § 30,000 JUE T oaHS Jfenr
J| fearSt @i B I 31 60,000 TUP T TS TH FSEMT T HIfHS ot Il




I91-€ 10 %3 =30
Q9. 282 €39 AeS (far & 10 A <t aAfFn aI)

a)  Hge weus

b) foascdl egalea wgu3
¢ YIus 3uerg 2 oo

d) 33HIYIol

e) WU ferdne ¢ grfee
f) w9 9n sAfcT

g FHIGI

hy fefdazr fendne
i)y fosmdeg

j)  ode =g fawrs
k) HHE 393

D yuSioe &5

m) J& fi&3 3 IIATI T TI&ETI WeU3 T e I

A% Jf3e feddt = 30000
wieg &% Tur gger J1 = 1000
FIrerd = 3000
9% Y3 9% War = 1000
n) X Ut fBHIEZ B P/V w3 40% J1 83U A T HgE W3 30 JUE Yt wiee J1 feadt
HS fogaas I3
0) HfEI GeII=A



